POSE! ( JMBHE! )

X/

L1
ShERY A S
s £ B = s B L
L D _8 : JISEAR? +0.1
POS 5 41 16 8 M5 X 0.8 6 33
POS 6 45 18 9 M6 X1 6.75 36
POS 8 53 22 12 M8 X 1.25 9 42
POS 10 61 26 12 M10X1.5 105 48
POS 12 69 30 16 M12X1.75 12 54
POS 14 77 34 19 M14X2 135 60
POS 16 85 38 21 M16X 2 15 66
POS 18 93 42 23 M18X15 165 72
POS 20 101 46 25 M20X 1.5 18 78
POS 22 109 50 28 M22 X 1.5 20 84
POS 25 124 60 31 M24 X 2 22 94
POS 30 145 70 37 M30X 2 25 110
[#7%#] [ 2Bl S ]
IFER : S35C(SEE8RIE)
HEPE  SUJ2v58HRCELE R IR A%
BB EE ) EEER h7
HMERESE
. ST 6
auEE  Wes SRTERR P
BUSRAARY
POS10 L
AL
NI
I FHRAL

23-10 HIK EEEN TRANME R IE TS https://tech.thk.com



=
#di ¢ ¢ @ dI
¢Da L
St
4
& fiZm
R HEPIR T TSI BER | mE
i RBRH
[ /Eﬂﬁf d ;ﬁi’;‘kE@ di C OL|° (X,zO a:° Cs
(BB |, | Damm(ES) N ,
20 61.5) 5 111120 6) 7.7 0.3 8 13 30 3430 12.5
22 g1 6 12.7(/2) 9 0.3 8 13 30 4900 19
25 8 15.875(°/s) 104 0.5 8 14 25 6860 32
29 10 19.05(%/4) 12.9 0.5 8 14 25 10800 54
33 12 22.225(fs) 15.4 0.5 8 13 25 16700 85
36 PB107 14 25.4(1) 16.9 0.7 10 16 24 20600 126
40 16 28.575(1'/s) 19.4 0.7 9 15 24 25000 185
44 18 31.75(1'/4) 21.9 0.7 9 15 24 29400 260
47 20 34.925(1%s) 24.4 0.7 9 15 24 34300 340
51 22 38.1(1')2) 25.8 0.7 10 15 23 41200 435
57 AMGF 25 42.862(1"/:6) 29.6 0.8 9 15 23 72500 650
66 a 30 50.8(2) 34.8 0.8 10 17 23 92200 1070
[ FEB& ] [iMiE]
Bfrmm  HARSAEAEER- 5% LA AL T B
— - B H T R- 5 7 IR 1 POS5 Fl6 AT ST,
R 00355 F AR S E A RIS A -
BhE A 0.1LLF [E?ﬂﬁ&ﬂ'ﬁ%ﬁﬁ“
NBIMBM B A TR FIL LU R
ISR A58 BT L 2R
— o az o3
WIERIB

ALK

N23-11






